Specifications
Sockets 4103/4403

MOUNTING HOLES
/11/32' DIA. EACH.

DRAIN HOLE

~T——CONDUIT OPENINGS

4403B Socket

Features and Benefits

a
a
a
a
a
. General specifications
B Weight 4103E-EURO 1,1 Kg
4103PS 1,3 Kg
4403B & 4403E 1,2 Kg

FLUID TRANSFER GROUP EUROPE

32 A TDOVER) company



Spare parts

4150-4150 REPAIRKIT FOR 4103E: ITEM
1 H50025M DUST CAP, BLUE 1
2 H50288M CABLE 2
3
4450-4450 REPAIRKIT FOR 4403E: 4
1 H50065M DUST CAP, GREEN 5
2 H50288M CABLE 6
7
4450B REPAIRKIT FOR 4403B: 8
1 H52535M DUST CAP, BLACK 9
2 H50288M CABLE 10
12
Spare part only supplied as complete kit 13
14
15
16

NN
00

FRONT VIEW

Related products

Art. number

2110E-L30
ELO5116
ELOOOO1
3205E-XR1IM

3205E-XLIM

1398E-E003
1397E-E003
K1-5110E-18
K1-5550U-18
5000U

Description

30 m 5-Wire straight cable conform EN13922
Cable gland HSK-K-EX: m20x 1,5; 6-12 mm blue
Ground bolt

ROM onboard monitoring system, right handed,
with 2W rack interface, metric

ROM onboard monitoring system, left handed,
with 2W rack interface, metric

Truck tester, 4-J-slotted, black plug

Truck tester, 3-J-slotted, blue plug

5-Wire optic overfill sensor

2-Wire optic overfill sensor

Retain sensor

REAR VIEW

PART NR DESCRIPTION

H52538M SCREW, M8 X 1.25 X 20MM
H50288M Cable

C40151A-3 “J" SLOT SOCKET - 3
H52479M GASKET, NEOPRENE
H52538M SCREW, M8 X 1.25 X 20MM
H50250M WASHER, 5/16 SS

H53048M SCREW, #8-32 3/8"
H50064M GASKET, NEOPRENE
D52537A BODY

H52962M Plate

H50291M Spacer

H53038M-4103E Label

H50617M Insert

H50616M Contact, Button

H50074M Screw, #6-32 1/2"

H50618M
H50623M-2

Ground Wire
Screw, #6-32 3/8

Ordering specifications

QTY

2
1

1
1
2
2
4
1
1
1
1
1
4
6
1
1
1

Art. number Description

4103E 6-Pin socket for optic sensors, BASEEFA

4103PS 4103E with pressure switch conform 94/63EC (VOC)

4403B 10-Pin socket with pressure switch for optic and thermistor
sensors, black label and cap, in accordance with EN13922 and VOC

4403E 10-Pin socket for thermistor sensors with green label and cap

FLUID TRANSFER GROUP EUROPE

A JDOVER) company

33



